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Math 71 — Fall 2007 Name: Socecr LA
QUIZ #1 @ 50 points

Write in a neat and organized fashion. Write your complete solutions on SEPARATE PAPER. You should use a

pencil. For an exercise to be complete there needs to be a detailed solution to the problem. Do not just write down
an answer. No proof, no credit given! Clearly label each exercise.

Bx+5.f x<0
L f(x)_{4x+1,ifx20
) Find £ (2)
b) Find f(-2).

2. Solve the following equations:

5 2u-3
a) —=
6 5
b) x—3_x—2:4—x

3 2 4

c) A=2lw+2lh+2wh solve forl

3. Let f(x)= 3x—_51 Answer the following questions:
x —_—

a) What is the domain of the function?
b) Find f(-1).

¢) Find f(a+h).

4. Use the graphs of fand g to answer the following:

. } . : <_y
a) (f+g)(—+4 | LWL
(f+£)(-4) 5 e
5 (/2)0) —




3. A company that sells radios has yearly fixed costs of $600,000. It costs the company $45 to produce

each radio. Each radio will sell for $65. The company’s costs and revenue are modeled by the following
functions:

C (x) =600,000+45x - this function models the company’s costs
R(x)=65x - this function models the company’s revenue
a) Find and interpret (R -C ) (20, 000) .

b) Find and interpret (R - C)(40,000)

6. Graph 7x+2y =14 using the intercept method. Clearly label the axes and the intercepts.

7. Find an equation of the line that passes through the point (-1,2) and is perpendicular to S %+ 1 y= 2
18 6 3

8. The linear function y = —0.4x +38 models the percentage of U.S. men, y,'smoking cigarettes x years
after 1980. Find the slope and describe what it means in this context.
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